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A2 - MATLAB

e

nos EX RFabs = zeros(21,2);

% table - 2| |inb 2222 |7 EHE .

% table? - can S DYTZ bean B2 97 3= Gfer i=1: 2]
Borho - S 2= M, lieb 2 string &

% RBFf - reaction force &) w,v 2FEF 3f

% Pos - AMEMO| EHEHl FEF &2l ZEEL FEf
D - EHe

3 - FFabs(i,:) = [ abs(RF{(i, 1)} ., abs(RF{(i, 200 1 ;
6 - end

ki

n - rho = zeros(21,1);

39

40 - for 1 =17

4] - rha(i) = atan{RFabs(i,1)/AFahs(i,2));
42 - end

43

44 - for i =8 &

45 — rho(i) = atan(RFabsii,1)/FFabs(i,2));
46 — end

47

48 - D = zeros(21,1);

49

RO - Fos = zeros(21,1);

A1

52 %OEI T HY stepsizes MM EE0| TEdl=
53 W 2td 2 018 228 AbEEtD M 2
R4

Bh - for i =1: 2

B — Pos(i) = table2(i,2) + tan{rholi)) ;

AT - end

A

B9 — for i =1: 3

B0 - DEi) = table2(i, 1) + Pos(i);

1 - end
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Line Graph: Strain energy per unit length (J/m)
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otar?] FHl= 50g
1

E—Ey = Emv

E .. = 11.59 Ve = 20.98 m/s F..c = 300N

2

Ecomp = 55.11 Veomp = 46.95 m/s Feomp = 200N
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